U]

R0

1.1.1.1

2.2.2

P

=

o

AheH(2)

ol
=

FA} (

7] 1R

]_

=

—

o

He 2

sl
=1

2017

(V] (qV]
AT Ar
M =
[ - R
2 |8 2w
o &2
o ,_JE
b pr RIIKE
o0 a&w@m
S a4k
< DTN B
ool ™y o
o ﬂ&a&ﬂwﬂm
N ow oy %W ©
o | IO O N
o o | T = ﬂmﬂmog
R ~d IH ™ 0 rr S i
Al =d L) A -
N |Ry|e B
Z |Tw|n
o W2 Ky
10y o |0
a |9l W
_.T._o_a_zox._
ol .ﬂc_oo_a_i.
Mroos|ow
Nl.%rﬁ_éo_
0 5|2 | F D
P oxls Al D
N H Ok [0 N
%0
= ~N | < © < ©
o=
iof ol—|la|m|t|v|jo|~o|lo|lof—| = | N | 2| T w0 © N~




AL (=Y ) (2)8hd

al

7] 1z}

_#o_l

20178hd % 2

o
ar
T
OF ny
RO i
T
o:mﬂ
) o8 5 oF
) M% %0
o
ol H - )
& R | ®BHF &
W | A = o | Aruo
e 0l Rl Al T R R Al A =< R g u | P ow
| = Sl . |s|® |84 o
O ™| ®| T - R
TR AT s U
||~ | T O
ACLAr | S | @0 K
Sl oow | O
a | 3o | «r Pq ol
- ol ol ol
m__ - ™ <J OF RM
ow | av | Rr <] & R0 0
K0 RX ) <]
Al sl =T cad® e
%H
Wm o [ < | N Al I~ ol B o0 T I ol Nl W I RN (gp] (98] <t wn LN (Wp) (Ve
o} ol|l—|lalo|t|v|o|~|lo|o]| = [\ o || wv| o N~
E — === |=|=|—|—|=|-| | X | X |X|X|X <




2

o

EHE

178PdE 23t7] 1RkAL (2o} )zt ( 2 )ahd

LS

6—)][:]—

=]

H| 1

©|®| |00 A [N =PRI PO BN =

N
(@)

nNo

-hmwwwm.bt\)i—xwi—-l\)-bmmwr\).b{:w.b

A1

N[RIWIN[WIAIN|D(BA]DID]IDIN|D DN WD W[W

b
i
o
I}

M2 5 GITOIS EEO0 I3 SHO AAS SA(S2EE BE)OZ o
HZ0l= RO 4D ENO(EHEX BE) HZS HM6HACH
A3 4 G D24, O HEmel
® 8= DR NS NEXOZ 12U AS0ICH
m 5 @ ZUSH(ZUZTY)(RE S4) 2
@ RS0 AIRHY JH= THAl ARBIO| BIAIS B0] == AMOICH
@ BIAEE(HA ZA) BE
M5 4 HEX(HE &), YHIR(ZUHE 2)
LIRIIXIS(LIRIIX 9), ZalsH(gelst)
M6 c ® EZ0ls DY Y= AZBS0 S M= Bl ASUS AXO2 B}
@ B2 YEHS EE0S A2ME =&, NN UE=E &S X0 B
M7 5 AE THAO 2XHS SDEOZ HEE 4 Y= D8 20|, ALS AA
I LSS SWEOT HES & U= 28 20ICH




90178PdE 28] 1xk1AF (Z1E7)F (2 HEd

7

Tk
H

i3 8
L

Hs | HA J = ol 1
1 3 2
2 4 1
3 4 3
4 4 1
5 3 5
6 3 2
7 3 4
8 4 5
9 3 4
10 4 1
11 4 4
12 3 1
13 4 9
14 4 3
15 4 4
16 5 2
17 3 5
18 4 5
19 4 4
A1 4 (ga)&EAD]

A2 4 2E3!

A3 5 SH(IE)

A4 5 BFSE=g=r
A5 6 At3l st
A6 6 208, 24l, &




AER

20178PA = 28t7] 1X}A} ( 48F )d) (2 )ehd

1S | HHE H o D
1 3 5

2 3 1

3 3 1

4 4 4

5 “ 3

6 3 4

7 3 2

8 3 5

g 4 3

10 4 3

11 3 5

12 4 4

13 4 1

14 4 3

15 4 2

16 3 B

17 3 2

18 3 4, 5

19 4 )

20 4 1

A1 5 4

N2 5 26

M3 7 (1) y=%x+20 (2) 40cm  (3) 80g MNas
N4 | 7 % e
A5 | 6 5 Heg




o9
O

2017shd = 23t7] 12kaAl (Fo)3 (2)8hd
He | uiA Al
1 2 2
2 2 15
3 3 4
4 3 4
5 4 4
6 3 3
[ 3 2
8 3 5
9 3 4
10 2 5
11 5 1,2
12 5 4
13 4 5
14 4 1
15 4 3
16 4 4
17 4 2
18 4 2
19 2 5
20 4 4,5
A1 2 instead of
A2 2 to save water
3-1)pollute->clean
A3 4 3-2)weekday->
Saturday
®to be a doctor
A4 4 @wants to be
A5 4 proud of
A6 4 The student who has not studied hard is going to fail the exam.
7-1)He is sleepy.
N7 6 7-2)He needs) a bed to ps)lleep in(on).
8-1)(I see a girl) play(playing) the guitar.
A8 6 8-2) I see a dog jump(jumping) on the sofa.
= I see a man sing(singing) a song.




NS E

K% L C—% - " —
2017 A= 28t7] 1XRtAL ( kst )it (2)shd
w3 | HE e H)

1 3 5

2 4 3

3 4 3

4 3 1

5 3 1

6 4 3

7 4 2

8 4 5

9 4 5

10 3 1

11 5 4

12 5 5

13 4 1

14 4 3

15 5 2

16 3 5

17 4 5

18 4 4

A1 4 S, DA

N2 3 SAL

A3 3 5}

A4 4 sS42 gE2 YotXLl, Rll= HACLCH

N5 4 oA QA2 HeE = QEE Sol H2= LIZ2HCG,
(1) 2, Z=E, 24, ol0l4, 27 €7,

N6 6 (2) AFZHS 2EHFHLUS 38 IH(EL X)) 26l
e X o =

M7 ¢ | & SlIAE TOIZol Wot 20l 100CRL He 250

N 2= E2g ZA0F 2 X EEC.




